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iy

| tst gear Results: RESULTS_VALID Solver: solver converged after 1441 iterations in 746ms; balance=0 4 error=0.01%
Znd gear
3rd gear
4th gear

Sth gear

| R qear

location {mm}) -13.0 -4.7 3.0 14.0 28.0 44.0 194.0 204.0 210.0 216.5 229.5 242.0 263.0 278.0 292.5 319.8 328.0

displacement (pm) 11.2 19.0 39.0 45.7 63.7 78.2 24.2 25.4 27.0 29.4 3411 35.2 31.4 24.5 15.4 4.4 3.9

displacement (pm) -10.5 -13.0 -37.3 -13.6 -39.4 -f1.5 10.0 17.0 211 25.3 32.1 3.3 31.2 24.4 15.4 -3.3 -3.0

location {mm) -13.0 -4.7 3.0 14.0 28.0 44.0 194.0 204.0 210.0 216.5 229.5 242.0 263.0 278.0 292.5 319.8 328.0
slope (mrad) -1.029 [-1.028  |-1.292  [-L172 0.9 0684 0635 0.692 0.662 0.626 0.454 0,100 -0.252  [H0.51F7 |0.654 0.1 0,558

displacement (pm) 4.0 BT -10.6 -13.9 -23.0 -31.6 -22.0 -13.8 -16.9 -13.0 -11.5 8.2 -3.0 =14 0.3 3.0 4.0




